Решение задачи № 1.




Sтр. =  = 20, h =  a +b =10, a + b = c + d, c + d = 10, c = d = 5, 
(b – a) : 2  = [image: image2.png]J25 - 16



 = 3, 2a + 6 = 10, a = 2, b = 8. 

Ответ: 2, 8.

Решение задачи № 2.



[image: image4.png]


 AC = 10, S тр. =  ,  AF = [image: image6.png]


, CF = [image: image8.png]vioo-2



 =  
= 7[image: image10.png]


. Пусть MF = x, тогда AM = FD = [image: image12.png]


 – x, BC + AD =  [image: image14.png]x+ V2



 – x + [image: image16.png]


 – 
 - x + x =  2[image: image18.png]


, S тр. = 14.

Ответ: 14.

Решение задачи № 3.



MN = 18  см, DC : AB  = 1 : 5, MN = [image: image20.png]DC+ AB



 = 18 см, DC + AB = 36 см. Пусть  
x см –1  часть, AB = 5x см, DC = x см, тогда 5x + x = 36. Значит, DC = 6 см, AB = 30 см, AF = = EB = 12 см, AD = 15 см, DF = [image: image22.png]V225- 144



 = 9 см.

Ответ: 9 см. 

Решение задачи № 4.





OB = 3 см, OC = 9 см, OB и OC – биссектрисы углов EBM и MCF, ( EOB =  = ( BOM, ( MOC =  ( COF, ( EOB + ( BOM + ( MOC +  ( COF = 180(, 
( BOM + ( MOC = 90(, ( BOC – прямоугольный, BC = [image: image24.png]J81+9



 = 3[image: image26.png]vio



 см, 
OM 2  = 81 – x 2 , OM 2  = 9 – (3[image: image28.png]vio



 - x) 2, x = [image: image30.png]27V10



 см, OM = r =  см. 

Ответ:    
[image: image31.wmf]9
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